Mnowagb NOKpbITUS 0,702 M2 Ob6bem getanu 0,0323 M3

Mnowage npuknerikn| 0,356 M?  |[Konuuecteo mynbTuwmnos| 2 LUT.
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Mnowaab NOKpbITUA

0,744 w?

Ob6bem getanu

0,0285 m°

Mnowaanb NPUKIENKN

0,447 m?

KonnyectBo MynbTULLINNOB 2 LWT.
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Bua cnesa

(MacwTtab 1:2)
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211.17 | Nosic 220-80, anuHa 203 cm
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Mnowagb NOKpbITUS 0,343 M2 Ob6bem getanu 0,01 26 M3

Mnowags npuknerkn| 0,198 M?  |Konu4ecTBo MynbTULLMNOB

1,5 Wr.
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Bua cnesa
(MacwTtab 1:2)
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[Nosic 220-80, nesbin yron 90 cm
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Mnowagb NOKpbITUS 0,343 M2 Ob6bem getanu 0,01 26 M3

Mnowags npuknerkn| 0,198 M?  |[Konuuectso mynbTuwmnos | 1 S wT.
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[Nosic 220-80, npasbin yron 90 cm 1:8




Mnowagb NOKpbITUS 0,460 M2 Ob6bem getanu

0,0171 »°

Mnowags npuknerikn| 0,264 M?  |[Konuuecteo mynbTiwmnos| 2 LUT.
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[Nosic 220-80, neBbin yron 122 cm

1:8




Mnowaab NOKpbITUA

0,460 m?

Ob6bem getanu

0,0171 »°

Mnowaanb NPUKIENKN

0,264 M?  |[Konuuecteo mynbTiwmnos| 2 LUT.
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211.38 | Nosic 220-80, npaBbin yron 122 cm 1:8




